
Gruppe B  

 Name/ Name 

 

1 

 

 

Hubert/ Jürgen 

 

2 

 

 

Dominik/ Jonas 

 

3 

 

 

Moritz/ Jakob 

 

4 

 

 

Margit/ Andrea 

 

Paarungen                                                                                                                    Ergebnis 

1: Hubert/ Jürgen: Dominik/ Jonas                                                                                           2 : 1 

2: Moritz/ Jakob: Margit/ Andrea                                                                                             2 : 1   

3: Hubert/ Jürgen: Moritz/ Jakob                                                                                              2: 0 

4: Dominik/ Jonas: Margit/ Andrea                                                                                           2 : 0 

5: Hubert/ Jürgen: Margit/ Andrea                                                                                           2 : 0 

6: Dominik/ Jonas: Moritz/ Jakob                                                                                             0 : 2 

 

 

Endstand 

Platz Name/ Name Punkte Sätze 

 

1 

 

 

Hubert/ Jürgen 

 

9 

 

6 : 0 

 

2 

 

 

Moritz/ Jakob                                                                            

 

6 

 

4 : 3 

 

3 

 

 

Dominik/ Jonas 

 

3 

 

2 : 4 

 

4 

 

 

Margit/ Andrea 

 

0 

 

 1 : 6 

 


